
Annals of Clinical and Analytical Medicine

Quality-of-Life of Migraine Patients Followed in Neurology Clinics at King Fahad Hospital in AL-Madinah City, 2021: A Cross-sectional Study

Haifa Marzoog Alharbi (1) *, Sami Abdo Radman (2)

(1) Family Medicine Resident in Joint Program of Family Medicine, Al-madinah, Saudi Arabia

(2) Trainer in Joint Program of Family Medicine Postgraduate Studies, Al-Madinah, Saudi Arabia

Received 13/1/2022; revised 12/2/2022; accepted 22/2/2022

*Corresponding author

Abstract

Introduction: Migraine is ranked the second leading cause of years lived with disability (YLD). It negatively affects multiple aspects of life which include family relationships, career/financial achievement, stability and overall health. This study aimed to assess the quality of life of migraine and its determinants among patients in neurology clinics.

Methods: This study was a cross sectional study included a convenient sample of migraine patients (15-60 years), followed in 7 neurology clinics at King Fahad Hospital in AL Madinah city, Saudi Arabia. A valid self-assessment questionnaire was utilized for collecting data. It has three parts; sociodemographic data, migraine history and the Arabic version of Migraine-Specific QOL Questionnaire, version 2.1 (MSQ 2.1) to assess quality of life.

Results: A total of 339 migraine patients participated in the study. Majority of them (87.6%) were females and Saudi nationals (92.9%). Their age ranged between 15 and 60 years, with arithmetic mean ($\pm$ SD) of 36.31 ± 12.56 years. On a scale ranged between 0 and 100, the mean score ($\pm$ SD) for the restrictive role, preventive role, emotional function domains and the overall QOL were 70.42 ± 22.89 , 73.97 ± 22.27 , 77.73 ± 21.32 and 73.0 ± 20.78 , respectively. Total migraine specific QOL score was highest among patients with intermediate school education (81.2 ± 14.0), $p < 0.001$, retired patients (81.7 ± 18.2), $p = 0.001$. It was significantly higher among never smokers than daily smokers (77.7 ± 20.7 vs. 57.4 ± 29.9), $p = 0.024$ and among those without history of co-morbid chronic diseases compared to those with such history (76.4 ± 21.3 vs. 70.5 ± 20.1), $p = 0.010$. It was also highest among patients diagnoses in the past 1-3 years (79.4 ± 16.3), $p < 0.001$, those with less than 12 attacks/year (85.8 ± 20.0), $p < 0.001$, patients who reported no medication intake during migraine attacks (84.4 ± 18.5), $p < 0.001$, patients who reported current intake of prophylactic medication (76.9 ± 19.3), $p < 0.001$, those who took Propranolol (Inderal) as a prophylactic drug (79.2 ± 6.3), $p = 0.002$ and those with no family history of migraine (76.7 ± 21.2), $p < 0.001$.

Conclusions: Migraine impacts the QOL of affected patients in many aspects. Therefore, assessing QOL by treating physicians is very essential to help them in making more suitable prescribing medications.

Keywords: Migraine, Pain-killer, Quality of Life, Neurology, Saudi

Introduction

Migraine is classified as neurological disease and a primary type of headache which has two major types migraine without aura and migraine with aura. Migraine is represented as attacks of pulsatile unilateral or bilateral moderated to sever localized headache which worsened with activity, associated with photophobia, phonophobia and nausea or vomiting [1]. It is commonest in ages of 30 up to 40 years old groups, and ameliorated as migraineurs reaches to their 50s to 60s [2].

Worldwide prevalence rate of migraine ranged between 2.6 and 21.7% which represent 12% in average [3]. Migraine among male and female ranked as the third most common disease (behind tension type headache and dental caries) [4]. American Migraine Prevalence and Prevention (AMPP) Study state the migraine is significantly more common in female and shows a difference between female to male as ratios range from 2:1 to 3:1 [5]. Prevalence of migraine in Saudi Arabia according to a study done 2018 in a large sample by Almalki et al. is 26.97% with female predominance (ratio of 1:2.9) [6].

The World Health Organization (WHO) define the quality of life (QOL) as “individual's perception of their position in life in the context of the culture and value systems in which they live and in relation to their goals, expectations, standards and concerns.” [7]. Migraine was ranked the second leading cause of years lived with disability (YLD) by last report released in 2017 from the Global Burden of Disease, which has ascended the ranks to its top causes of YLDs from 19th in 2000 to the 2nd in 2016 which indicate the insufficient of progress in addressing this condition [8]. As this finding regarding migraine, its support its negatively effects on multiple aspects of life which include family relationships, career/financial achievement and stability and overall health [9]. There are a few studies in Saudi Arabia regarding the effect of migraine on the quality of life. AlHarbi FG et al. conduct one study on migraine patients followed in neurology clinics reported a low quality of life scores were associated with young ages, long disease

duration, frequent migraine attacks, and presence of chronic diseases [10].

In 2018, there was a cohort study done by Muayqil et al. about migraine and headache prevalence and associated co-morbidities in a large Saudi sample. They found the prevalence of migraine was 26.97% in 1,333 out of 4,943 with female predominance (ratio of 1: 2.9) [6].

In 2021, there was across sectional study done by Fatima G AlHarbi et al. about quality of life of migraine patients followed in neurology clinics in Riyadh, Saudi Arabia. They found low quality of life scores were associated with young ages, long disease duration, frequent migraine attacks, and presence of chronic diseases [10]. Significant decrease in physical and psychological QOL was associated with migraine [11]. A negative effect of migraine regarding many aspects of life including marital, parenting, romantic and family relationships, career/financial achievement and stability, and overall health [9].

As the migraine can affect the quality of life and ranked the second leading cause of years lived with disability, the author finds that there is a limited number of studies regarding the quality of life of migraine patients in Saudi Arabia in general and Almadinah in specific, the author conducted this study to address the potential disabilities in migraineurs and to encourage applying the effective quality of life measurement in the management of migraine patient. This study aimed to assess the quality of life of migraine patients in neurology clinics at King Fahad hospital, AL Madinah city-2021.

Methods

This study was a cross sectional study and done in Al Madinah city by inclusion of migraine patients who have been followed in 7 neurology clinics at King Fahad Hospital in AL Madinah City. Study aimed to include all male and female patients who is knowing case of migraine, including age of 15 – 60 years old, Saudi and non-Saudi and who were diagnosed with migraine and followed with neurology clinics for 6

months and more to ensure right diagnosis and to explore the effect of chronicity on the quality of life. Any patient with cognitive impairment was excluded from the study.

The represented sample sized was calculated using 50% prevalence of poor quality of life with a desired accuracy of 0.05 at 0.95 confidence level. The minimal sample size was 384 and to compensate for non-response and missing data 10 % was added; hence 423 questionnaires were distributed.

In king Fahad Hospital, there are 8 neurology clinics one of them was excluded as it is for new cases. The sampling was a convenient sampling among migraines patients whose followed in the full day neurology clinics. The researcher started after obtaining the approval letter from the research committee in AlMadinahcity. After obtaining the approval letter from out-patients clinics director in King Fahad Hospital in Al Madinah, the researcher distributed a valid self-assessment questionnaire for migraine patients who is followed at neurology clinics after taking consent.

The study was conducted through three-part questionnaire consisted of 32 questions. The first part was on sociodemographic data included questions related to the (age, gender, nationality, marital status, educational level, job, income, history of chronic illness, smoking). The second part regarding migraine history (duration, frequency of attacks , medications used for abortive and preventive therapy , family history), and the third part is to assess the quality of life through Arabic version of Migraine-Specific QOL Questionnaire, version 2.1 (MSQ 2.1) which consists of 14 questions to measures the effect of migraine in a three important domains over the past 4 weeks: (1) restrictive role a cross seven items on how migraine limits one's daily social and work-related activity (2) preventive role a cross four items on how migraine prevents these activities and (3) emotional function a cross three items on migraine-associated emotions. The answers for each domain's question is scaled for 6 point: "none of the time," "a little bit of the time," "some of the time," "a good bit of the time," "most of the time," and "all of the time," which are scored of 1–6, respectively. Total score was rescaled from a 0 to 100 scale. Higher scores indicate better quality of life. MSQ 2.1 questioner is validated and was obtained

from the Mapi Research Trust website, which had permission from the developer for the translation and use of the questionnaire.[13, 14]

The pilot study was conducted before starting the study to test the applicability, feasibility, time taking to finish one questionnaire and the process of conduction of the study. T questionnaire was distributed for 10 subject. All the data collected from those subjects will not be included in this study. The results revealed that the questionnaire was clear and understandable, thus, no modifications were carried out and it took approximately on average 12 minutes to be filled.

The data were coded and entered through SPSS software, version 26. Data analysis included descriptive statistics using frequency and percentage for categorical variables and mean and standard deviation for numerical continuous variables. Then, data were analyzed by using T-test and ANOVA to compare the mean of QOL scores between two and more than two groups, respectively. Pearson's correlation coefficient was used to correlated between two continuous variables (age and QOL score) in the same group. The results were considered statically significant if the P-value is < 0.05.

The proposal was submitted to get the ethical approval by research ethical committee in Almadinah Almonawarhcity. All participants were participated voluntary and informed regarding their right to not participate and their data would be kept confidential, anonymous and for study purpose only. A letter from general supervisor of training program was issued to the outpatient clinics director in King Fahad Hospital in Al Madinah.

Results

Three hundred and 339 migraine patients participated in the study. Table 1 presents their sociodemographic characteristics. Majority of them (87.6%) were females and Saudi nationals (92.9%). Their age ranged between 15 and 60 years, with arithmetic mean ($\pm$ SD) of 36.31 ± 12.56 years. More than half of patients (55.7%) were married and 44.3% were Bachelor holders. Not working/house wives represented 43.3% of the participants and the income

Table 1: Sociodemographic characteristics of migraine patients, neurology clinics at King Fahad Hospital, AL Madinah city

Characteristics	Frequency	Percentage
Gender		
Male	42	12.4
Female	297	87.6
Age (years)		
Range	15-60	
Mean±SD	36.31±12.56	
Nationality		
Saudi	315	92.9
Non-Saudi	24	7.1
Marital status		
Single	126	37.2
Married	189	55.7
Divorced	15	4.4
Widowed	9	2.7
Educational level		
Illiterate	12	3.5
Primary school	30	8.85
Intermediate school	42	12.4
Secondary school	75	22.1
Bachelor	150	44.3
Master/PhD	30	8.85
Job status		
Not working	147	43.3
Student	93	27.4
Private sector	21	6.2
Governmental	69	20.4
Retired	9	2.7
Family income (SR/month)		
<4000	243	71.7
4000-7999	18	5.3
8000-11999	18	5.3
12000-15999	30	8.8
16000-19999	24	7.1
≥20000	6	1.8

of most of them (71.7%) was below 4000 Saudi Riyals/month (table 1).

Time since diagnosis of migraine exceeded 5 years among almost one-third of patients (32.8%). The frequency of migraine attacks ranged between 2 and 3 times/week among 29.2% of patients whereas it was less than 12 times/year among 22.1% of them. The most frequent medication taken during migraine attack was Panadol/Fevadol (68.1%). Prophylactic medication intake was reported by only 221% of

patients; the most frequently reported was Topiramate (Topamax) (24%). Family history of migraine was reported by 41.6% of patients; particularly mothers (46.8%) and sisters (34%) as shown in table 2.

The prevalence of smoking was 7% (3.5% daily and 3.5% less than daily. History of chronic diseases was observed among 41.6% of migraine patients. Regarding the individual chronic co-morbid diseases, the commonest reported were anemia (21.3%), Diabetes II (19.1%), thyroid disorders (19.1%) and hypertension (17%).

Almost half of the patients (50.4%) have mentioned that because of migraines, they have been afraid all the time of letting others down (52.2%), not able to go to social activities and felt all the time fed up or frustrated (44.2%). More than one-third of them (34.5%) needed all the time help in handling routine tasks. Table 4 summarizes the QOL score of migraine patients. On a scale ranged between 0 and 100, the mean score (±SD) for the restrictive role, preventive role, emotional function domains and the overall QOL were 70.42±22.89, 73.97±22.27, 77.73±21.32 and 73.0±20.78, respectively.

Table 5 shows score of restrictive role domain of Migraine-Specific Quality of Life scale was highest among patients with intermediate school education (81.3±16.0) and lowest among those with postgraduate degree (53.6±19.5), $p<0.001$. Concerning job status, it was highest among retired patients (79.4±22.6) and lowest among private sector employees (57.1±19.6), $p=0.031$. It was significantly higher among non-smokers than daily smokers (76.2±26.0 vs. 55.4±28.5), $p=0.049$ and among those without history of co-morbid chronic diseases compared to those with such history (74.7±23.4 vs. 67.4±22.1), $p=0.004$. Table 6 shows that the score of the restrictive role domain of migraine QOL scale was highest among patients diagnoses for 1-3 years (78.2±18.1) and lowest among those diagnosed since less than 6 months (61.2±26.5), $p=0.001$. Regarding frequency of attacks, it was highest among patients with less than 12 attacks/year (83.0±22.7) and lowest among those who reported daily migraine attacks (55.8±22.1), $p<0.001$. The score was highest among patients who reported no medication intake during migraine attacks (85.5±16.7) while it was lowest

Table 2: Migraine-related characteristics of migraine patients, neurology clinics at King Fahad Hospital, AL Madinah city

Characteristics	Frequency	Percentage
Time since diagnosis		
<6 months	63	18.6
6 months-one year	51	15.0
1-3 years	57	16.8
3-5 years	57	16.8
>5 years	111	32.8
Frequency of migraine attacks		
Daily	42	12.4
4-6 times/week	18	5.3
2-3 times/week	99	29.2
Once weekly	39	11.5
≤3 times/month	66	19.5
<12 times/year	75	22.1
Medications taken during migraine attack*		
Nothing	39	11.5
Panadol/Fevadol	231	68.1
Triptan	42	12.4
Prufin	33	9.7
Others	42	12.4
Current taking prophylactic medications		
No	225	75.2
Yes	75	22.1
Don't know	9	2.7
If yes, which medications? (n=75)		
Propranolol (Inderal)	9	12.0
Topiramate (Topamax)	18	24.0
Don't know	21	28.0
Others	27	36.0
Family history of migraine		
No	198	58.4
Yes	141	41.6
If yes, specify who is? (n=141)*		
Mother	66	46.8
Father	9	6.4
Sister	48	34.0
Brother	27	19.1
Others	39	27.7

among those who took medications other than Panadol/Fevadol and Triptan (51.9 ± 24.0), $p < 0.001$. It was higher among patients who reported current intake

of prophylactic medication compared to those who did not take such medications (75.0 ± 21.1 vs. 54.6 ± 22.6), $p < 0.001$. It was also significantly higher among patients with no family history of migraine compared to those with such history (74.2 ± 23.0 vs. 65.1 ± 21.7), $p < 0.001$.

Table 7 demonstrates that score of preventive role domain of Migraine-Specific Quality of Life scale was highest among patients with primary school education (82.5 ± 20.6) and lowest among those with postgraduate degree (62.1 ± 23.0), $p = 0.004$. It was highest among retired patients (77.8 ± 18.5) and lowest among private sector employees (58.3 ± 23.5), $p = 0.001$. It was significantly higher among less than daily smokers than daily smokers (85.4 ± 9.0 vs. 57.3 ± 31.9), $p = 0.007$ and among those without history of co-morbid chronic diseases compared to those with such history (78.0 ± 22.1 vs. 71.1 ± 22.0), $p = 0.005$.

The score of the preventive role domain of migraine QOL scale was highest among patients diagnoses for 1-3 years (80.3 ± 17.7) and lowest among those diagnosed since less than 6 months (62.9 ± 24.0), $p = 0.001$. Regarding frequency of attacks, it was highest among patients with less than 12 attacks/year (87.5 ± 20.8) and lowest among those who reported daily migraine attacks (61.3 ± 22.7), $p < 0.001$. The score was highest among patients who reported no medication intake during migraine attacks (83.7 ± 18.8) while it was lowest among those who took medications other than Panadol/Fevadol and Triptan (55.6 ± 25.6), $p < 0.001$. It was higher among patients who reported current intake of prophylactic medication compared to those who did not take such medications (77.5 ± 20.9 vs. 62.0 ± 23.9 , $p < 0.001$). Among those who took prophylactic medications, the highest score was observed among patients taking Propranolol (Inderal) (79.2 ± 6.3) and the lowest was observed among those taking medications other than Propranolol and Topiramate (49.1 ± 30.2), $p = 0.002$. It was also significantly higher among patients with no family history of migraine compared to those with such history (77.8 ± 22.5 vs. 68.6 ± 20.8), $p < 0.001$ as illustrated in table 8.

Score of emotional function domain of Migraine-Specific Quality of Life scale was positively correlated significantly with participants' age ($r = 0.139$, $p = 0.011$).

It was highest among patients with primary school education (86.1 ± 16.0) and lowest among those with postgraduate degree (63.9 ± 27.0), $p=0.001$. It was significantly higher among non-smokers than daily smokers (78.6 ± 19.9 vs. 62.5 ± 39.6), $p=0.019$ as demonstrated in table 9.

Table 10 shows that the score of the emotional role domain of migraine QOL scale was highest among patients diagnoses for 3-5 years (83.9 ± 17.9) and lowest among those diagnosed since less than 6 months (64.8 ± 29.7), $p<0.001$. Regarding frequency of attacks, it was highest among patients with less than 12 attacks/year (90.0 ± 16.3) and lowest among those who reported daily migraine attacks (59.5 ± 29.1), $p<0.001$. The score was highest among patients who reported no medication intake during migraine attacks (82.9 ± 24.5) while it was lowest among those who took medications other than Panadol/Fervidor and Triptan (69.1 ± 19.8), $p<0.001$. It was higher among patients who reported current intake of prophylactic medication compared to those who did not take such medications (81.5 ± 7.3 vs. 68.2 ± 22.5), $p<0.001$. It was also significantly higher among patients with no family history of migraine compared to those with such history (81.2 ± 21.7 vs. 72.8 ± 19.9), $p<0.001$.

Table 11 demonstrates that total migraine specific QOL score was highest among patients with intermediate school education (81.2 ± 14.0) and lowest among those with postgraduate degree (58.2 ± 21.3), $p<0.001$. It was highest among retired patients (81.7 ± 18.2) and lowest among private sector employees (57.7 ± 20.0), $p=0.001$. It was significantly higher among never smokers than daily smokers (77.7 ± 20.7 vs. 57.4 ± 29.9), $p=0.024$ and among those without history of co-morbid chronic diseases compared to those with such history (76.4 ± 21.3 vs. 70.5 ± 20.1), $p=0.010$.

Table 12 presents the total migraine specific QOL score was highest among patients diagnoses since 1-3 years (79.4 ± 16.3) and lowest among those diagnosed since less than 6 months (62.5 ± 24.2), $p<0.001$. Regarding frequency of attacks, it was highest among patients with less than 12 attacks/year (85.8 ± 20.0) and lowest among those who reported daily migraine attacks (58.2 ± 22.6), $p<0.001$. The score was highest among patients who reported no medication intake during migraine attacks (84.4 ± 18.5)

while it was lowest among those who took medications other than Panadol/Fevadol and Triptan (56.6 ± 21.6), $p<0.001$. It was higher among patients who reported current intake of prophylactic medication compared to those who did not take such medications (76.9 ± 19.3 vs. 59.6 ± 21.3), $p<0.001$. Among those who took prophylactic medications, the highest score was observed among patients taking Propranolol (Inderal) (79.2 ± 6.3) and the lowest was observed among those taking medications other than Propranolol and Topiramate (49.1 ± 30.2), $p=0.002$. It was also significantly higher among patients with no family history of migraine compared to those with such history (76.7 ± 21.2 vs. 67.8 ± 19.1), $p<0.001$.

Discussion

Migraine is well known to be associated with several personal as well as societal burden [15, 16]. It has also adverse impacts on family life; particularly patients' spouses and children [17-19]. Effective assessment of QOL and disability of migraine patients is considered an important component in the management of the disease as several studies documented migraine disability in the form of lost time as well reduced capability of doing daily activities [11]. The current study was conducted mainly to assess the quality of life of migraine patients in neurology clinics at King Fahad hospital, AL Madinah city, due to limited studies concerning this issue in Saudi Arabia.

In agreement with others who stated that migraine is more prevalent among females, [10, 20-23] the majority of patients included in this study (87.6%) were females. Also, the mean age of patients was 36.31 years. This is again agreeing with previous studies which reported that migraine is a disease affecting mainly middle age population between 20 and 40 years [10, 11, 22, 24].

Regarding the migraine characteristics, almost one third of migraine patients in the present study were diagnosed with migraine since more than 5 years compared to two-thirds of patients in a similar study carried out recently in Riyadh [10]. The difference could be explained by difference in the mean age of patients in both studies, where patients were little bit younger in Riyadh's study. It has been reported

internationally that patients were diagnosed with migraine mostly below the age of 20 years [25, 26].

A considerable proportion of patients in the present study reported migraine in a frequency of 2-3 times per week in agreement with a study carried out in Riyadh,[10] where most of patients reported migraine in a rate of more than one attack per week. Despite the relatively high frequency of migraine attacks among our patients, only 22.1% reported intake of prophylactic therapy. In a study carried out in Riyadh, intake of prophylactic therapy was reported by majority of patients (85%). This finding needs further in-depth investigation. The commonly used drug during migraine attacks was Panadol/Fevadol (68.1%) in this study. The same has been reported by others [10, 30].

The most frequently reported prophylactic was Topiramate (Topamax), followed by propranolol. In Other studies, carried out locally (10) and internationally, a study carried out in Riyadh, the commonest used was amitriptyline, followed by topiramate and propranolol [27-29]. However, we cannot say that we are differ from others as 64% of patients reported either other drug or ignored the prophylactic medication used. In the present study, on a scale ranged between 0 and 100 of the migraine-specific QOL scale, the mean score ($\pm$ SD) for the restrictive role, preventive role, emotional function domains and the overall QOL were 70.42 ± 22.89 , 73.97 ± 22.27 , 77.73 ± 21.32 and 73.0 ± 20.78 , respectively. In another recent Saudi study carried out in Riyadh, using the same scale, the mean scores of restrictive role, preventive role and emotional function were 51.8 ± 19 , 54 ± 18 and 46.3 ± 23.4 , respectively [10]. This indicated lowed quality of life compared to our cohort. This variation could be attributed to the differences in the characteristics of the study population.

In the current study, because of migraines, between one third and one-half of patients have been "afraid all the time of letting others down" (52.2%), "not able to go to social activities" (50.4%), "felt all the time fed up or frustrated" (44.2%) and "needed help in handling routine tasks" (34.5%). In a study carried out in Riyadh (KSA), patients have reported that because of

migraine, they have been "afraid of letting others down" (31.6%), and "frustrated because of my migraines" (26.3%). In Canada, three quarters of patients reported poor sleep because of migraine, more than half reported that migraine prevented them from driving and one-third reported missing one day of work due to migraine. As well as it made them feel left out of activities. Also, other studies carried out in previously in Riyadh (KSA) [32], USA [33, 34]) and Malaysia [35] reported severe functional impairment and disability and lack of school/college days (for students) due to migraine. In Jeddah (KSA), Ibrahim et al. observed that during migraine attacks among medical students and interns, the majority had diminished academic performance and frequent absence from classes [36].

The present study revealed that migraine affection of the QOL was highest among patients with lower education as well as retired patients. This could be explained by the fact that higher educated and working patients are usually more involved in many social and work-related activities than lower educated and retired patients, which in turn be more worried about their status. In accordance with others (10, 33), no gender difference was detected in this study regarding impact of migraine on QOL.

QOL was less affected among never smokers than daily smokers and among those without history of comorbid chronic diseases compared to those with such history. The same affection of chronic illness on QOL of migraine patients was observed by others [10]. In accordance with a study carried out recently in Riyadh (KSA), in the current study, longer duration of the disease and more frequent attacks of migraine were associated with poor QOL.

It has been noticed from literature that the effects of migraine on QOL of patients are not limited to the migraine attacks only but extend further to the periods in-between attacks [37] This should be taken into consideration by treating physicians during follow-up of such patients [38]. Furthermore, studies have shown that medical care given to migraine patients is suboptimal [39] In the current study, patients who reported no medication intake during migraine attacks expressed the highest QOL score. This finding could reflect their medical status as a mild case necessitating

no treatment, and thus, not impacting the QOL. Also, this can be seen in the present study by finding that patients, who reported current intake of prophylactic medication; particularly Propranolol (Inderal) expressed the highest QOL score in the present study.

In the present study, we included patients followed up at neurology clinics, rather than general population, which could affect the generalizability of findings as those patients might have more severe forms of the disease. However, we included those patients to ensure the diagnosis of migraine. Cross-sectional design adopted in this study is another limitation as it doesn't prove causality between associated factors and the outcome. Despite those few limitations the study explored an important issue which is the importance of assessing QOL of migraine patients for making more suitable prescribing medications by treating physicians.

Conclusions

Migraine affects the quality of life of patients attending neurology clinics at King Fahad Hospital in AL Madinah City. This affection included restriction of their physical and social activities as well as represented an emotional problem. Impact of QOL was more apparent among smokers, those with comorbid diseases,

patients with longer duration and more frequent attacks of migraine, patients on medications during attacks, and those who reported no intake of prophylactic medication and patients with family history of migraine.

Conflict of interests

The authors declared no conflict of interests.

References

1. Migraine - ICHD-3 The International Classification of Headache Disorders 3rd edition [Internet]. [cited 2021 Feb 2]. Available from: <https://ichd-3.org/1-migraine/>
2. Migraine in later life - The Migraine Trust [Internet]. [cited 2021 Feb 3]. Available from: <https://www.migrainetrust.org/living-with-migraine/coping-managing/migraine-in-later-life/>
3. Yeh WZ, Blizzard L, Taylor B V. What is the actual prevalence of migraine? Brain Behav [Internet]. 2018/05/02. 2018 Jun;8(6):e00950–e00950. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/30106228>
4. Steiner TJ, Stovner LJ, Birbeck GL. Migraine: the seventh disabler. Cephalalgia [Internet]. 2013/01/10. 2013 Apr;33(5):289–90. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/23307815>
5. Buse DC, Loder EW, Gorman JA, Stewart WF, Reed ML, Fanning KM, et al. Sex differences in the prevalence, symptoms, and associated features of migraine, probable migraine and other severe headache: results of the American Migraine Prevalence and Prevention (AMPP) Study. Headache [Internet]. 2013/06/28. 2013 Sep;53(8):1278–99. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/23808666>
6. Muayqil T, Al-Jafen BN, Al-Saaran Z, Al-Shammari M, Alkthiry A, Muhammad WS, et al. Migraine and Headache Prevalence and Associated Comorbidities in a Large Saudi Sample. Eur Neurol [Internet]. 2018/03/14. 2018;79(3–4):126–34. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/29539610>
7. WHO | WHOQOL: Measuring Quality of Life. WHO. 2014;
8. Collaborators GBD 2017 D and II and P. Global, regional, and national incidence, prevalence, and years lived with disability for 354 diseases and injuries for 195 countries and territories, 1990–2017: a systematic analysis for the Global Burden of Disease Study 2017. Lancet (London, England) [Internet]. 2018/11/08. 2018 Nov 10;392(10159):1789–858. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/30496104>
9. Buse DC, Fanning KM, Reed ML, Murray S, Dumas PK, Adams AM, et al. Life with migraine: Effects on relationships, career, and finances from the Chronic Migraine Epidemiology and Outcomes (CaMEO) Study. Headache [Internet]. 2019/08/12. 2019 Sep;59(8):1286–99. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/31407321>
10. AlHarbi FG, AlAteeq MA. Quality of life of migraine patients followed in neurology clinics in

Riyadh, Saudi Arabia. *J Fam Community Med*. 2021;27(1):37.

11. Shaik MM, Hassan NB, Tan HL, Gan SH. Quality of life and migraine disability among female migraine patients in a tertiary hospital in Malaysia. *Biomed Res Int* [Internet]. 2015/01/08. 2015;2015:523717. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/25632394>

12. About Al Madinah [Internet]. [cited 2021 Feb 4]. Available from: <https://ngba.med.sa/English/MedicalCities/AlMadinah/Pages/AboutAlMadinahAlMunawwarah.aspx>

13. MSQ Version 2.1 - Migraine-Specific Quality-of-Life Questionnaire [Internet]. [cited 2021 Feb 5]. Available from: <https://eprovide.mapi-trust.org/instruments/migraine-specific-quality-of-life-questionnaire>

14. Jhingran P, Osterhaus JT, Miller DW, Lee JT, Kirchdoerfer L. Development and validation of the Migraine-Specific Quality of Life Questionnaire. *Headache* [Internet]. 1998 Apr;38(4):295–302. Available from: <https://www.ncbi.nlm.nih.gov/pubmed/9595870>

15. GBD 2015 Neurological Disorders Collaborator Group. Global, regional, and national burden of neurological disorders during 1990–2015: A systematic analysis for the Global Burden of Disease Study 2015. *Lancet Neurol*. 2017;16:877–897.

16. Burch R, Rizzoli P, Loder E. The prevalence and impact of migraine and severe headache in the United States: Figures and trends from government health studies. *Headache*. 2018;58:496–505.

17. Martelletti P, Schwedt TJ, Lanteri-Minet M, Quintana R,

Carboni V, Diener H-C, et al. My Migraine Voice survey: A global study of disease burden among individuals with migraine for whom preventive treatments have failed. *J Headache Pain*. 2018;19:115. <https://doi.org/10.1186/s10194-018-0946-z>

18. Buse DC, Powers SW, Gelfand AA, VanderPluym JH, Fanning KM, Reed ML, et al. Adolescent perspectives on the burden of a parent's migraine: Results from the CaMEO Study. *Headache*. 2018; 58:512–524. <https://doi.org/10.1111/head.13254>

19. Seng EK, Mauser ED, Marzouk M, Patel ZS, Rosen N, Buse DC. When mom has migraine: An

observational study of the impact of parental migraine on adolescent children. *Headache*. 2019;59:224–234.

20. Facts and Figures-The Migraine Trust. Available from: <https://www.migrainetrust.org/about-migraine/migraine-what-is-it/>

Facts-figures/. [Last accessed on 2019 Aug 02].

21. Muayqil T, Al-Jafen BN, Al-Saaran Z, Al-Shammari M, Alkthiry A, Muhammad WS, et al. Migraine and headache prevalence and associated comorbidities in a large Saudi sample. *Eur Neurol* 2018;79:126–34.

22. Almalki ZA, Alzhirani MAG, Altowairqi AT, Aljawi YA, Fallatah SA, Assaedi LM, et al. Prevalence of migraine headache in Taif City, Saudi Arabia. *J Clin Med Res* 2018;10:125–33.

23. Vargas LG. Gender Gap in Migraine: A Feminist Understanding of a Complicated Health Disparity. Bachelor. Tucson: University of Arizona; 2019. Available from: <https://repository.arizona.edu/handle/10150/632869>. [Last accessed on 2019 Aug 02].

24. Bigal ME, Lipton RB. The epidemiology, burden, and comorbidities of migraine. *Neurol Clin* 2009;27:321–34.

25. Bigal ME, Liberman JN, Lipton RB. Age-dependent prevalence and clinical features of migraine. *Neurology* 2006;67:246–51.

26. Steiner TJ, Scher AI, Stewart WF, Kolodner K, Liberman J, Lipton RB. The prevalence and disability burden of adult migraine in England and their relationships to age, gender and ethnicity. *Cephalalgia* 2003;23:519–27.

27. Hepp Z, Bloudek LM, Varon SF. Systematic review of migraine prophylaxis adherence and persistence. *J Manag Care Pharm*. 2014;20:22–33.

28. Goadsby PJ, Sprenger T. Current practice and future directions in the prevention and acute management of migraine. *Lancet Neurol* 2010;9:285–98.

29. Hepp Z, Dodick DW, Varon SF, Gillard P, Hansen RN, Devine EB. Adherence to oral migraine=preventive medications among patients with chronic migraine. *Cephalalgia* 2015;35:478–88.

30. Desouky DE, Zaid HA, Taha AA. Migraine, tension-type headache, and depression among Saudi female students in Taif University. *J Egypt Public Health Assoc* 2019; 94:7.
31. Ramage-Morin PL, Gilmour H. Prevalence of migraine in the Canadian household population. *Health Rep* 2014;25:10-6.
32. Tayel SS. Effect of migraine headache on academic performance and quality of life of female students at King Saud University, Kingdom of Saudi Arabia. *Bull Alex Fac Med* 2008;44:503-9.
33. Lipton RB, Stewart WF, Diamond S, Diamond ML, Reed M. Prevalence and burden of migraine in the United States: Data from the American migraine study II. *Headache* 2001;41:646-57.
34. Smitherman TA, McDermott MJ, Buchanan EM. Negative impact of episodic migraine on a university population: Quality of life, functional impairment, and comorbid psychiatric symptoms. *Headache* 2011;51:581-9.
35. Shaik MM, Hassan NB, Tan HL, Gan SH. Quality of life and migraine disability among female migraine patients in a tertiary hospital in Malaysia. *BioMed Res Int* 2015;2015. doi:10.1155/2015/523717.
36. Ibrahim NK, Alotaibi AK, Alhazmi AM, Alshehri RZ, Saimaldaher RN, Murad MA. Prevalence, predictors and triggers of migraine headache among medical students and interns in King Abdulaziz University, Jeddah, Saudi Arabia. *Pak J Med Sci* 2017;33:270-5.
37. Steiner TJ, Stovner LJ, Vos T, Jensen R, Katsarava Z. Migraine is first cause of disability in under 50s: Will health politicians now take notice? *J Headache Pain* 2018;19:17
38. Buse DC, Scher AI, Dodick DW, Reed ML, Fanning KM, Manack Adams A, et al. Impact of Migraine on the Family: Perspectives of People With Migraine and Their Spouse/Domestic Partner in the CaMEO Study. *Mayo Clin Proc* 2016. pii: S0025-6196 (16) 00126-9.
39. Katsarava Z, Mania M, Lampl C, Herberhold J, Steiner TJ. Poor medical care for people with migraine in Europe – Evidence from the Eurolight study. *J Headache Pain* 2018;19:10

Table 3: Response of the patients to different questions of the Migraine-Specific QOL Questionnaire

Items	Never N (%)	Rarely N (%)	Some of the time N (%)	A good bit of time N (%)	Most of the time N (%)	All of the time N (%)
How often have migraines interfered with how well you dealt with family, friends, and others who are close to you?	18 (5.3)	27 (8.0)	78 (23.0)	54 (15.9)	63 (19.6)	99 (29.2)
How often have migraines interfered with your leisure time activities such as reading or exercising?	33 (9.7)	9 (2.7)	87 (25.7)	51 (15.0)	60 (17.7)	99 (29.2)
How often have you had difficulty in performing work or daily activities because of migraine symptoms?	18 (5.3)	33 (9.7)	75 (22.1)	45 (13.3)	75 (22.1)	93 (27.4)
How often have migraines kept you from getting as much done at work or at home?	15 (4.4)	30 (8.8)	60 (17.7)	69 (20.4)	57 (16.8)	108 (31.9)
How often have migraines left you too tired to do work or daily activities?	15 (4.4)	33 (9.7)	63 (18.6)	48 (14.2)	72 (21.2)	108 (31.9)
6. How often have migraines limited your ability to concentrate on work or daily activities?	18 (5.3)	33 (9.7)	69 (20.4)	78 (23.0)	57 (16.8)	84 (24.8)
How often have migraines limited the number of days you have felt energetic?	12 (3.5)	27 (8.0)	60 (17.7)	90 (26.5)	69 (20.4)	81 (23.9)
How often have you had to cancel work or daily activities because of your migraines?	6 (1.8)	21 (6.2)	54 (15.9)	72 (21.2)	75 (22.1)	111 (32.7)
How often did you need help in handling routine tasks such as everyday household chores, doing necessary business, shopping, or caring for others, because of your migraines?	15 (4.4)	27 (8.0)	69 (20.4)	60 (17.7)	51 (15.0)	117 (34.5)
How often did you have to stop work or daily activities to deal with migraine symptoms?	12 (3.5)	24 (7.1)	39 (11.5)	99 (29.2)	60 (17.7)	105 (31.0)
How often have you felt fed up or frustrated because of your migraines?	24 (7.1)	30 (8.8)	51 (15.0)	54 (15.9)	30 (8.8)	150 (44.2)
How often have you felt like you were a burden on others	21 (6.2)	42 (12.4)	66 (19.5)	57 (16.8)	54 (15.9)	99 (29.2)

because of your migraines?						
How often have you been afraid of letting others down because of your migraines?	15 (4.4)	12 (3.5)	24 (7.1)	45 (13.3)	66 (19.5)	177 (52.2)
How often were you not able to go to social activities such as parties, dinner with friends, because of your migraines?	15 (4.4)	6 (1.8)	36 (10.6)	51 (15.0)	60 (17.7)	171 (50.4)

Table 4: Participants' mean score in each domain of the Migraine-specific Quality of Life questionnaire (n=339)

Measures	Restrictive Role	Preventive Role	Emotional function	Total
Minimum	16.67	16.67	16.67	16.67
Maximum	100	100	100	100
Mean±SD	70.42±22.89	73.97±22.27	77.73±21.32	73.00±20.78

SD: standard deviation

Table 5: Participants` sociodemographic and medical factors associated with restrictive role of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Gender Male (n=42) Female (n=297)	76.2±22.3 69.6±22.9	0.081 [†]
Age (years) <i>r</i> [*]	-0.02	0.662
Nationality Saudi (n=315) Non-Saudi (n=24)	70.7±23.2 66.4±18.7	0.370 [†]
Marital status Single (n=126) Married (n=189) Divorced (n=15) Widowed (n=9)	72.3±22.3 68.2±23.6 77.6±15.2 78.6±21.5	0.150 [‡]
Educational level Illiterate (n=12) Primary school (n=30) Intermediate school (n=42) Secondary school/Diploma (n=75) Bachelor (n=150) Master/PhD (n=30)	60.7±25.0 77.6±19.9 81.3±16.0 73.8±21.0 68.4±24.1 53.6±19.5	<0.001 [‡]
Job status Not working/house wife (n=147) Student (n=93) Private sector employee (n=21) Governmental employee (n=69) Retired (n=9)	72.5±23.9 68.4±24.4 57.1±19.6 71.5±17.9 79.4±22.6	0.031 [‡]
Family income (SR/month) <4000 (n=243) 4000-7999 (n=18) 8000-11999 (n=18) 12000-15999 (n=30) 16000-19999 (n=24) ≥20000 (n=6)	71.2±23.6 77.4±23.6 72.6±24.2 69.0±16.2 59.8±21.1 59.5±1.0	0.119 [‡]
Smoking history Never (n=315) Yes, daily (n=12) Yes, less than daily (n=12)	76.2±26.0 55.4±28.5 70.8±22.4	0.049 [‡]
History of chronic diseases No (n=198) Yes (n=141)	74.7±23.4 67.4±22.1	0.004 [†]

Pearson`s correlation coefficient

[†]Student's t-test[‡]Anova test*

Table 6: Participants` migraine-related factors associated with restrictive role of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Time since diagnosis		
<6 months (n=63)	61.2±26.5	0.001
6 months-one years (n=51)	66.9±18.5	
1-3 years (n=57)	78.2±18.1	
3-5 years (n=51)	72.2±25.7	
>5 years (n=111)	72.3±21.5	
Frequency of migraine attacks		
Daily (n=42)	55.8±22.1	<0.001
4-6 times/week (n=18)	62.3±24.0	
2-3 times/week (n=99)	66.6±19.1	
Once weekly (n=39)	66.8±24.0	
≤3 times/month (n=66)	75.5±20.0	
<12 times/year (n=75)	83.0±22.7	
Medications taken during migraine attack		
Nothing (n=39)		<0.001
Panadol/Fevadol (n=198)	85.5±16.7	
Triptan (n=30)	74.0±20.6	
Others (n=27)	62.4±19.4	
To drugs or more (n=45)	51.9±24.0	
	57.9±24.8	
Current taking prophylactic medications		
No (n=225)		<0.001
Yes (n=75)	54.6±22.6	
Don't know (n=9)	75.0±21.1	
	71.4±14.4	
If yes, which medications? (n=75)		
Propranolol (Inderal) (n=9)	51.6±11.9	0.336
Topiramate (Topamax) (n=18)	55.2±20.0	
Don't know (n=21)	49.7±31.6	
Others (n=27)	61.6±10.2	
Family history of migraine		
No (n=198)	74.2±23.0	<0.001
Yes (n=141)	65.1±21.7	

*Pearson`s correlation coefficient

Table 7: Participants` sociodemographic and medical factors associated with preventive role of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Gender		
Male (n=42)	77.1±25.4	0.333 [†]
Female (n=297)	73.5±21.8	
Age (years) r*	0.010	0.858
Nationality		
Saudi (n=315)	73.9±22.6	0.814 [†]
Non-Saudi (n=24)	75.0±17.5	
Marital status		
Single (n=126)	74.6±21.8	0.837 [‡]
Married (n=189)	74.0±22.9	
Divorced (n=15)	69.2±20.3	
Widowed (n=9)	72.2±22.0	
Educational level		
Illiterate (n=12)	77.1±19.6	0.004 [‡]
Primary school (n=30)	82.5±20.6	
Intermediate school (n=42)	79.5±16.9	
Secondary school/Diploma (n=75)	75.2±22.2	
Bachelor (n=150)	72.3±23.1	
Master/PhD (n=30)	62.1±23.0	
Job status		
Not working/house wife (n=147)	77.6±23.2	0.001 [‡]
Student (n=93)	70.0±22.5	
Private sector employee (n=21)	58.3±23.5	
Governmental employee (n=69)	75.7±17.2	
Retired (n=9)	77.8±18.5	
Family income (SR/month)		
<4000 (n=243)	74.3±23.0	0.081 [‡]
4000-7999 (n=18)	81.3±23.7	
8000-11999 (n=18)	79.9±20.2	
12000-15999 (n=30)	67.1±17.2	
16000-19999 (n=24)	66.7±20.7	
≥20000 (n=6)	83.3±1.0	
Smoking history		
Never (n=315)	74.2±21.9	0.007 [‡]
Yes, daily (n=12)	57.3±31.9	
Yes, less than daily (n=12)	85.4±9.0	
History of chronic diseases		
No (n=198)	78.0±22.1	0.005 [†]
Yes (n=141)	71.1±22.0	

Table 8: Participants` migraine-related factors associated with preventive role of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Time since diagnosis <6 months (n=63) 6 months-one year (n=51) 1-3 years (n=57) 3-5 years (n=51) >5 years (n=111)	62.9±24.0 76.5±16.3 80.3±17.7 74.8±27.9 75.5±20.7	<0.001
Frequency of migraine attacks Daily (n=42) 4-6 times/week (n=18) 2-3 times/week (n=99) Once weekly (n=39) ≤3 times/month (n=66) <12 times/year (n=75)	61.3±22.7 66.7±24.9 70.8±19.5 68.3±22.1 76.7±19.2 87.5±20.8	<0.001
Medications taken during migraine attack Nothing (n=39) Panadol/Fevadol (n=198) Triptan (n=30) Others (n=27) To drugs or more (n=45)	83.7±18.8 76.8±20.0 71.3±18.4 55.6±25.6 65.8±26.6	<0.001
Current taking prophylactic medications No (n=225) Yes (n=75) Don't know (n=9)	62.0±23.9 77.5±20.9 75.0±9.5	<0.001
If yes, which medications? (n=75) Propranolol (Inderal) (n=9) Topiramate (Topamax) (n=18) Don't know (n=21) Others (n=27)	79.2±6.3 67.4±19.6 66.7±13.7 49.1±30.2	0.002
Family history of migraine No (n=198) Yes (n=141)	77.8±22.5 68.6±20.8	<0.001

Table 9: Participants` sociodemographic and medical factors associated with emotional function of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Gender Male (n=42) Female (n=297)	77.8±24.8 77.7±20.8	0.987 [†]
Age (years) r*	0.139	0.011*
Nationality Saudi (n=315) Non-Saudi (n=24)	78.2±21.2 70.8±22.5	0.100 [†]
Marital status Single (n=126) Married (n=189) Divorced (n=15) Widowed (n=9)	76.5±29.8 77.9±22.5 80.0±13.4 88.9±8.3	0.379 [‡]
Educational level Illiterate (n=12) Primary school (n=30) Intermediate school (n=42) Secondary school/Diploma (n=75) Bachelor (n=150) Master/PhD (n=30)	75.0±19.5 86.1±16.0 83.3±14.6 77.6±21.8 77.6±21.3 63.9±27.0	0.001 [‡]
Job status Not working/house wife (n=147) Student (n=93) Private sector employee (n=21) Governmental employee (n=69) Retired (n=9)	81.7±21.1 73.1±21.1 57.9±25.4 79.5±16.9 92.6±7.3	0.409 [‡]
Family income (SR/month) <4000 (n=243) 4000-7999 (n=18) 8000-11999 (n=18) 12000-15999 (n=30) 16000-19999 (n=24) ≥20000 (n=6)	77.8±21.7 77.8±30.8 86.1±13.1 73.9±18.1 73.6±20.0 83.3±1.0	0.409 [‡]
Smoking history Never (n=315) Yes, daily (n=12) Yes, less than daily (n=12)	78.6±19.9 62.5±39.6 70.8±27.0	0.019 [‡]
History of chronic diseases No (n=198) Yes (n=141)	77.2±20.5 78.5±22.5	0.581 [†]

Table 10: Participants` migraine-related factors associated with emotional function of Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Time since diagnosis <6 months (n=63) 6 months-one year (n=51) 1-3 years (n=57) 3-5 years (n=51) >5 years (n=111)	64.8±29.7 79.4±16.4 81.0±16.2 83.9±17.9 79.4±18.9	<0.001
Frequency of migraine attacks Daily (n=42) 4-6 times/week (n=18) 2-3 times/week (n=99) Once weekly (n=39) ≤3 times/month (n=66) <12 times/year (n=75)	59.5±29.1 70.4±20.8 74.9±18.1 77.4±16.9 81.8±18.0 90.0±16.3	<0.001
Medications taken during migraine attack Nothing (n=39) Panadol/Fevadol (n=198) Triptan (n=30) Others (n=27) To drugs or more (n=45)	82.9±24.5 81.0±18.7 70.0±17.4 69.1±19.8 69.3±27.4	<0.001
Current taking prophylactic medications No (n=225) Yes (n=75) Don't know (n=9)	68.2±22.5 81.5±7.3 80.4±20.5	<0.001
If yes, which medications? (n=75) Propranolol (Inderal) (n=9) Topiramate (Topamax) (n=18) Don't know (n=21) Others (n=27)	83.3±1.0 65.7±24.1 65.1±16.6 67.3±27.4	0.191
Family history of migraine No (n=198) Yes (n=141)	81.2±21.7 72.8±19.9	<0.001

Table 11: Participants` sociodemographic and medical factors associated with total Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Gender		
Male (n=42)	76.8±22.8	0.208 [†]
Female (n=297)	72.5±20.5	
Age (years) <i>r*</i>	0.020	0.709*
Nationality		
Saudi (n=315)	73.2±21.0	0.434 [†]
Non-Saudi (n=24)	69.8±17.1	
Marital status		
Single (n=126)	73.9±20.4	0.633 [‡]
Married (n=189)	71.9±21.6	
Divorced (n=15)	75.7±14.3	
Widowed (n=9)	79.0±17.7	
Educational level		
Illiterate (n=12)	68.5±20.2	<0.001 [‡]
Primary school (n=30)	80.8±17.7	
Intermediate school (n=42)	81.2±14.0	
Secondary school/Diploma (n=75)	75.0±20.4	
Bachelor (n=150)	71.5±21.4	
Master/PhD (n=30)	58.2±21.3	
Job status		
Not working/house wife (n=147)	75.9±21.3	0.001 [‡]
Student (n=93)	69.9±21.8	
Private sector employee (n=21)	57.7±20.0	
Governmental employee (n=69)	74.4±16.2	
Retired (n=9)	81.7±18.2	
Family income (SR/month)		
<4000 (n=243)	73.5±21.4	0.221 [‡]
4000-7999 (n=18)	78.6±24.2	
8000-11999 (n=18)	77.6±20.0	
12000-15999 (n=30)	69.5±15.1	
16000-19999 (n=24)	64.7±15.1	
≥20000 (n=6)	71.4±20.0	
Smoking history		
Never (n=315)	77.7±20.7	0.024 [‡]
Yes, daily (n=12)	57.4±29.9	
Yes, less than daily (n=12)	73.4±20.2	
History of chronic diseases		
No (n=198)	76.4±21.3	0.010 [†]
Yes (n=141)	70.5±20.1	

Table 12: Participants` migraine-related factors associated with total Migraine-Specific Quality of Life score.

Factors	Mean±SD	p-value
Time since diagnosis <6 months (n=63) 6 months-one year (n=51) 1-3 years (n=57) 3-5 years (n=51) >5 years (n=111)	62.5±24.2 72.3±15.9 79.4±16.3 75.4±23.4 74.7±19.4	<0.001
Frequency of migraine attacks Daily (n=42) 4-6 times/week (n=18) 2-3 times/week (n=99) Once weekly (n=39) ≤3 times/month (n=66) <12 times/year (n=75)	58.2±22.6 65.3±23.3 69.6±16.7 69.5±19.3 77.2±17.4 85.8±20.0	<0.001
Medications taken during migraine attack Nothing (n=39) Panadol/Fevadol (n=198) Triptan (n=30) Others (n=27) To drugs or more (n=45)	84.4±18.5 76.3±18.0 66.5±17.8 56.6±21.6 62.6±25.0	<0.001
Current taking prophylactic medications No (n=225) Yes (n=75) Don't know (n=9)	59.6±21.3 76.9±19.3 74.6±8.6	<0.001
If yes, which medications? (n=75) Propranolol (Inderal) (n=9) Topiramate (Topamax) (n=18) Don't know (n=21) Others (n=27)	66.3±7.7 60.9±20.2 63.8±10.8 53.3±29.1	0.253
Family history of migraine No (n=198) Yes (n=141)	76.7±21.2 67.8±19.1	<0.001